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PUNJAB EXAMINATION COMMISSION 
EXAMINATION 2017, GRADE 8 

MATHEMATICS PART – B (Subjective Type)  

Note: If students use any other correct method then they will be awarded full marks. 
�� ������	
����
�	���� �������	���������������������  

Q.No.33.(a) If U={1,2,3,4,5,6,7,8,9,10}, A={1,3,4,5,6} and B={6,7,8,9,10} then show that  
(A∪B)c = Ac∩Bc ������� � ��	 
�  B={6,7,8,9,10}�
� A={1,3,4,5,6},  U={1,2,3,4,5,6,7,8,9,10}�� 
(A∪B)c = Ac∩Bc 

A∪B = {1,3,4,5,6,7,8,9,10}   0.5 mark 
(A∪B)c = U – (A∪B) = {2}   1 mark 
Ac = U – A = {2,7,8,9,10}   1 mark 
Bc = U – B = {1,2,3,4,5}   1 mark 
Ac ∩ B c  = {2}    0.5 mark 
Hence (A∪B)c = Ac∩Bc   1  mark 

(5 ) 

(b) The area of a square shaped park is 28561 square metres. Find the length of a side of 

the park.              ��������	������������ ������������� !�"#�$�%�� ��������	����&�' ( �)�*�  

 

 
 1 Mark 
 
 1 Mark 
 
 1 Mark 
 
 1 Mark 

Length of a side  ������� ���= 169 metre 	 
 ��  1 Mark 

Note: If unit is not mentioned, 0.5 mark will be deducted.    �
�����  ���    ��� ��������� ���  

(5) 

Q.No.34. (a) Evaluate the following and express the answer into decimal number system. 

 ��+�,�-.�/�0����1�2��,�3�4��
�156�7�8� 9�  

(146)8 – { (234)5 - (44)5} 
(146)8 – { (234)5 - (44)5} 
= (146)8 – (140)5   

  1 Mark 
(146)8 = 1×82+4×81+6×80   0.5 Mark 
 = 64+32+6    0.5 Mark 
 = 102    0.5 Mark 
(140)5 = 1×52+4×51+0×50   0.5 Mark 

 = 25+20    0.5 Mark 
 = 45     0.5 Mark 
(146)8 – (140)5   = 102 – 45   0.5 Mark 
= 57 Answer     0.5 Mark 
 
 

(5) 
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(b) A man left Rs. 300000 as inheritance. His heirs are a widow, one daughter and a son. 
Find share of widow, daughter and son in inheritance according to the Islamic rule. ���� ����� ������ �	�
��� 
�������������� ������� ���������������� ������� ����� �!"���#$%��&������ 
���������'���������(��

)*�+,�  
������ �� 	
�	�
�� ��������� 
 ��� ������ 
������� ���
� 	
����               
 1

8
× ������   

   
 ��� �����   
��������� ����
������  � ������� ���
 ������ −����� 
    
 ��� � ����  
!��  � " #������
 $� 
  �     "         % 
!�� �� 
����� ������� 
 �&% 
�    
!��
� �� ��� 
����  
 2

3
× � ���� 
 ���%�����  

!��
� �� �������
  �
����  '
 1
3
× � ���� 
 ��� (����  

��� )�
* 
��� )�
* 
��� )�
* 
��� )�
* 
 
 
% )�
* 
% )�
* 
 
% )�
* 

 

(5 ) 

Q.No. 35. (a) Solve     ( 3x3 − 4x2 − x + 15 ) × ( x − 3 )
      

�)*�-�  

 
   3x3 − 4x2 − x + 15      
×   x − 3     
     3x4−4x3−    x2+15x    1.5 marks 
         − 9x3+12x2+  3x − 45   1.5 marks 
      3x4−13x3+11x2+18 x −45   1 mark 
 

(4) 

(b) Fatima bought 4 notebooks and 3 pens for Rs. 150 while Ahmad bought 2 such 
notebooks and 3 pens for Rs. 90. Find the price of one notebook and one pen. 

./���	 ��01������ 2�
��� 3 �4� 56����������7��8���9� 
  ��01���� � �2���  3 �4� 56��������� �����:�2� ���������+,�;�<
۔*(  

Suppose cost of 1 notebook  �� ������ ! "#$$%�� = Rs. x  0.5 Mark 

Suppose cost of 1 pen � ������ ! "#$�& %��  = Rs. y  0.5 Mark 

Then by given conditions '(�)�*+���,�-  
  4x + 3y =   150    ----------------- (1)     1 Mark 
  2x + 3y =     90    ----------------- (2)     1 Mark 

Equation (1) – equation (2)  =>    �.��/+� ,- �.��/+% ,  
  4x + 3y =  150 ----------------- (1)       
- 2x ± 3y = - 90 ----------------- (2)    2 Marks 
  2x           =  60  
 
x = 30 
 
 

(8) 

Res
ult

.p
k

http://www.result.pk


[Grade-8, Mathematics Part-B, Version 1]  Page 3 of 4 

Now put x=30 in equation (2)    0�12�3�� x=30 $�.��/+� ,4  
2(30) + 3y = 90 
60 + 3y = 90 
3y = 90-60           2 Marks 
3y = 30 
3 30

3 3

y
=  

y = 10 

Cost of one notebook �� ����$%�� = Rs. 30    0.5 Marks 

Cost of one pen � ���$& $%��  = Rs. 10     0.5 Mark 

 

Q. No. 36. (a) Construct a regular hexagon ABCDEF where mAB  = 2.5cm. 

m AB  = 2.5 cm�7�=> ABCDEF ��?�@� ��� 
For, 

• Drawing a circle of radius 2.5 cm                 1 Mark 
• Taking a point A on the circle                     1 Mark 
• Starting from point A , drawing six arcs of radius 2.5 cm at  points of the circle at B, 

C, D, E, F with centre at A,B,C,D and E respectively.    1.5 Marks 
• Joining A to B, B to C, C to D, D to E, E to F and F to A.   1.5 Marks 

   

%$5  6�17���! 89�����:����! ; �<�=��� • 
%$5  6�> � �6�?! 89��$$�@  • 

5%�� .$/01  #23242� 6 +��AB�C�    52 .2 #2 3 2 4 �DE�F2�G�+�0 $�*H � �@ 
�6�I�JK�L���:����! ; �<�= ��� 2�M��! "NO�P ,  

• 

5%�� �Q6�1R�0 � $�P 5 $$/01 5 �P . 2 . �P # 2 #�P 3 2  3�P 4$6 4 �P � • 
Note: If students make hexagon by any other correct method, then he will be awarded full 

marks. S�T�U�$����V$� �W��$0�XY $ Z� �[�\�F7�:]Q 8 �̂ ��_��5�?� �̀0  
 

( 5) 

(b) Construct a rectangle ABCD when mAB =6cm and mBC =5cm.  

m BC =5cm ��� mAB =6cm =>�7�  ABCD A   

 

For drawing line segment, AB  of given length 1 mark 
For making angle of 90o at each end point  2 marks 
For drawing two arcs      1mark 
For construction of correct rectangle   1mark 

%$5   $6�a  AB  $7�bc�d���ef�eE�g  

�$5  6�17�h��i��  8��  ��6���?j�! kl�)�c�d  
%$5  6�a�JK��� 
%$5  m� �W��$$6�n��  

   

(5) 

 
A B 

C 

D E 

F O 
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Q.No: 37. (a) By using Hero’s formula, find the area of a triangular region when the 
lengths of its sides are 15m, 20m and 25m.  

�B 25m ���  20m،15m  0CD�<�EF�������7�)*�+,�G�����HI�J� ����K��L�<�MNOPQ �����R  

 
a = 15m 
b = 20m      0.5 Mark 
c = 25m 

 s
2

+ +
=

a b c
     0.5 Mark 

 s
15 20 25

2

+ +
= =30m  0.5 Mark 

 

Area of � = ( )( )( )− − −s s a s b s c   0.5 Mark 

Area of � = 30(30 15)(30 20)(30 25)− − −  0.5 Mark 

   = 30(15)(10)(5)   0.5 Mark 

   = 22500    1 Mark 
   = 150m2     1 Mark 

Note: If unit is not mentioned, 0.5 mark will be deducted.   Qo�p��5  0.5 pq  "� �[�r�s�e���U�  
 

(5) 

(b) The number of units of electricity consumed by 22 houses are given below. Construct a 
frequency distribution table by taking size of class interval 10. 



 S �TU� VW���X�<� Y 5Z[��\�]^����_���0��� 
���`a���=>�]�3 Vb���c�d�X�*�e�f��  
70,31,55,61,62,31,69,72,44,50,47,25,24,25,43,64,33,55,36,45,57,73 

 
 

 
 
 
 
 

 
 

 
 
(Column-wise Marks:   
 Class Interval=2 Marks, Tally mark= 2 Marks, Frequency= 1 Mark) 
 
 
 
 
 
 
 
 

 Class Interval Tally mark Frequency (�) 
24 --- 33 ||||| 6 

34 --- 43 || 2 
44 --- 53 |||| 4 
54 --- 63 |||| 5 

64 --- 73 |||| 5 

  22 

(5) 
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